Unit 2: Reasoning with Linear Equations and Inequalities  Name:

Solving Systems of Linear Equations

*A system of equations is solved by finding the (if any) that they share.

*A system of equations share either _, ,or ___points.
*A system of linear equations can be solved using one of four methods.

TYPE DEF'N WEAKNESSES

l. Graphing

I.. Table

1. Substitution

1. Linear Combination
(Elimination)

Examples of types |, II, 1l, and IV.

—y=0 ~y=0
e 1. ik (use the table)
2x+y=3 2x+y=3

x—y=1 ” 3x+4y =20
. s S " l4x+5y=10



Unit 2: Reasoning with Linear Equations and Inequalities  Name:

Solve the following systems by graphing. Check your answers using a table.

y=2x+3 5 y=3x-3
y=-5x=2 Coly=3x+1
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Solve the following systems using linear combination.

2x+Ty =40 a -3x+4y=7
2x-3y=20 C[2x+y=-1

8x=~1 -x-y=6
10.
-3x+y=-4 7x-3y=18

Hx+2y=27 ; 3x-8y=10
2Ix+3y=-9 -2lx +56y = -84
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Use systems to solve the following problems. The choice of method is up to you
to check your answers,

Some coins (dimes and nickels) are in a pile. The total
value of the pile is $1.35. The number of nickels is one
coin less than twice the number of dimes. Using a system

of equations, find the number of each type of coin.

The larger of two complementary angles is 12 more than
5 times the measure of the smaller. Find the measure of

the two angles.

You are searching for two integers. The sum of twice the
first integer and three times the second integer is nine. At
the same time, the sum of three times the first integer and

twice the second integer is one. Find the two integers.

. Use an alternate method
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How do you find the solution to a system of near equations?

P

|

Methods to Solve Syxtems of Linear Systems

GRAPEING

4

SUBSTITUTION

2Xx+3y=5
4x-y=17

\

Elimination

F

X
Dreryecting Paralle] Comading ks
Lizes have Boes Eave kave an ifoite

ExxCTY 0T o sohaticn przmber of
solton hecause soluhior: {all the
nhich iz the there 1 no potats on the kne
point of pouz of are sokmaons of

intersection | | Dmersacticn the systam)
8] & By y=mxth)

1. Isolate one variable incze of the

equations.
2. Subatinte hat expression o
the second equazion and solve fux
e variable,

3. Suhetime the vabee Soued mostep
2 mep gicher of the origmal
equations 2ad soive far the
rercaming varizhle

4. Write the ordesed paur.

1. Renite each equation i
standard fomm.

2. Croore avarizble to eloningre
and roaltiphy by appropriste merber
0 elinmare 12

3. Sohve for ramammy varia®e
arther by subasmating it om2 of
the anzinal eguanons o by
repeatng step 2 for tha other
vartable,

4. WWiite the ordered par.

Wrat if both of the variables cancel owt? Look at the resulting srithmetic agustion,
+Falea statement indicates the lines zre paralle! so there 13 no sohution.
*True siztevent wdicates the lines comcide 30 there are infinute soiwnons.
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